
Weekly Quiz 
 
In each of the following examples, only one of the three 
sentences is correct. Which one? 
 
1) 
a) How can you account for this increase in price? 
b) How can you account this increase in price? 
c) How can you account to this increase in price? 
 
2)  
a) The new regulation doesn’t apply on us. 
b) The new regulation doesn’t apply us. 
c) The new regulation doesn’t apply to us. 
 
3) 
a) I would appreciate to receive more information. 
b) I would appreciate receiving more information. 
c) I would appreciate it to receive more information. 
 
4)  
a) My colleague always claims because he has too much work 
to do. 
b) My colleague always complains because he has too much 
work to do. 
c) My colleague always claims it that he has too much work 
to do. 
 
5) 
a) I’m sorry, I have to deny your kind invitation. 
b) I’m sorry, I have to decline your kind invitation. 
c) I’m sorry, I have to cancel your kind invitation. 


